Swim Munster Future Challenger Meet 2B 03-Dec-23 [Ageup: 31/12/2023] SC Meters Sanction: 11S-23/24/M011 Location: Douglas Swimming Pool

Sanction: 11S-23/24/M011 Location: Douglas Swimming Pool Sundays Well Swimming Club [SWSC] Coach: Richard Cassidy

Time	F/P/S	Event	Place	Points	Improv
Davin Barry	(10) M				
54.548	F # 4A	Male 10-10 50 Back	10		
2:23.67\$	F # 9A	Male 10-10 100 IM	15		
Gabriel Basto	s (14) M				
55.94S	F # 4E	Male 14-14 50 Back	1		-7.80
1:56.84S	F # 9E	Male 14-14 100 IM	1		-4.94
Claire Bradle	v (11) F				
39.948	F # 7B	Female 11-11 50 Fly	3		2.35
3:15.688	F # 10B	Female 11-11 200 IM	4		-7.73
41.30S	F # 12B	Female 11-11 50 Back	1		-1.59
Cara Buckley	(11) F				
1:27.34S	F # 3B	Female 11-11 100 Back	1		-19.93
45.49S	F # 7B	Female 11-11 50 Fly	7		
3:28.03S	F # 10B	Female 11-11 200 IM	6		
43.18S	F # 16C	100 Medley Relay Lead Off			
Lily Carroll (11) F				
2:05.64S	F # 1B	Female 11-11 100 IM	17		-0.04
1:58.72S	F # 3B	Female 11-11 100 Back	8		-21.97
1:12.70S	F # 7B	Female 11-11 50 Fly	20		6.67
50.15S	F # 16C	•			
Benjamin Coa	klev (10) M				
2:03.68S	F # 9A	Male 10-10 100 IM	8		
1:49.64S	F # 11A		6		
Siun Cotter (-		
1:40.96S	F # 1D	Female 13-13 100 IM	3		1.03
49.97S	F # 7D	Female 13-13 50 Fly	5		
		10111110 10 10 114	, and the second		
Julieanne Cre 1:43.37S	an (13) F F # 1D	Female 13-13 100 IM	4		
47.45S	F # 1D F # 12D		4 2		-0.75
2:11.98S	F # 14B		2		-0.73
		remale 13-13 100 Fly	2		
Abigail Crega		E 1 12 12 100 B 1	10		
2:00.40\$	F # 3C	Female 12-12 100 Back	19		
49.64S 3:55.48S	F # 7C F # 10C	Female 12-12 50 Fly Female 12-12 200 IM	12 14		
		remale 12-12 200 lM	14		
George Crega			•		
52.39S	F # 4A	Male 10-10 50 Back	9		
2:00.20\$	F # 9A	Male 10-10 100 IM	6		-7.52
1:07.03S	F # 15A	Male 10-10 50 Fly	14		-10.93
Jack Cruise (-				
45.72S	F # 4A	Male 10-10 50 Back	1		-0.88
35.43\$	F # 8C	100 Free Relay Lead Off			-0.42
1:44.31S	F # 9A	Male 10-10 100 IM	2		-1.99
48.75S	F # 15A	Male 10-10 50 Fly	4		
Kaya Deasy (-				
1:59.05S	F # 1A	Female 10-10 100 IM	10		-6.95
2:06.60S	F # 3A	Female 10-10 100 Back	12		

Swim Munster Future Challenger Meet 2B 03-Dec-23 [Ageup: 31/12/2023] SC Meters Sanction: 11S-23/24/M011 Location: Douglas Swimming Pool

Sanction: 11S-23/24/M011 Location: Douglas Swimming Pool Sundays Well Swimming Club [SWSC] Coach: Richard Cassidy

Time	F/P/S	Event	Place	Points	Improv
Moya Deasy	(12) F				
1:53.918	F # 1C	Female 12-12 100 IM	21		1.69
55.80S	F # 7C	Female 12-12 50 Fly	19		
53.17S	F # 12C	Female 12-12 50 Back	7		-2.88
Amaia Doher	ty (10) F				
2:24.90S	F # 1A	Female 10-10 100 IM	17		0.37
1:17.53S	F # 7A	Female 10-10 50 Fly	16		
Ryan Flynn F	arrell (10) M				
56.05S	F # 4A	Male 10-10 50 Back	11		
2:07.07S	F # 9A	Male 10-10 100 IM	12		
1:06.66S	F # 15A	Male 10-10 50 Fly	12		
Michaela Fly	nn-Farrell (13)	F			
2:05.948	F # 1D	Female 13-13 100 IM	7		-5.70
1:01.35S	F # 7D	Female 13-13 50 Fly	7		
NS	F # 12D	-			
Saoirse Flyni	1 (12) F				
1:33.17S	F # 1C	Female 12-12 100 IM	3		-5.42
1:40.61S	F # 3C	Female 12-12 100 Back	6		
		remare 12 12 100 Buch	ŭ		
Lily Henness 1:54.34S	y (12) F F # 1C	Female 12-12 100 IM	22		11 50
1:54.545 1:59.28S	F # 1C F # 3C	Female 12-12 100 IM Female 12-12 100 Back	18		-11.59 -22.27
42.21S	F # 8C	100 Free Relay Lead Off			9.21
		100 Free Relay Lead Off			9.21
Sarah Henne		T 1 44 44 400 W	4.4		= 00
1:49.77S	F # 1B	Female 11-11 100 IM	11		-5.23
57.76S	F # 7B	Female 11-11 50 Fly	14		2.59
51.49S	F # 12B	Female 11-11 50 Back	5		-5.09
Doireann Ke					
1:46.61S	F # 1B	Female 11-11 100 IM	8		-0.37
53.92S	F # 7B	Female 11-11 50 Fly	13		-4.40
49.20S	F # 12B	Female 11-11 50 Back	4		-4.30
46.94S	F # 16C	100 Medley Relay Lead Off			
Marlie Kerr	(10) F				
2:01.55S	F # 1A	Female 10-10 100 IM	11		
1:01.13S	F # 7A	Female 10-10 50 Fly	9		
55.16S	F # 12A	Female 10-10 50 Back	7		
Kayla Lake (12) F				
1:46.95S	F # 1C	Female 12-12 100 IM	17		-0.99
NS	F # 3C	Female 12-12 100 Back			
NS	F # 7C	Female 12-12 50 Fly			
39.75S	F # 8C	100 Free Relay Lead Off			
Iris Mc Carth	v (10) F				
1:45.718	F # 1A	Female 10-10 100 IM	2		-9.35
1:52.20S	F # 3A	Female 10-10 100 Back	9		
52.11S	F # 7A	Female 10-10 50 Fly	5		
Isabelle Molo	nev (11) F	-			
2:19.08S	F # 1B	Female 11-11 100 IM	21		
57.92S	F # 12B	Female 11-11 50 Back	7		
3,1,20	. " IZD		,		

Swim Munster Future Challenger Meet 2B 03-Dec-23 [Ageup: 31/12/2023] SC Meters Sanction: 11S-23/24/M011 Location: Douglas Swimming Pool Sundays Well Swimming Club [SWSC] Coach: Richard Cassidy

Time	F/P/S	Event	Place	Points	Improv
Rosie Monah	an (11) F				
1:38.00S	F # 1B	Female 11-11 100 IM	4		-5.27
1:36.00S	F # 3B	Female 11-11 100 Back	3		-20.59
51.05S	F # 7B	Female 11-11 50 Fly	10		
39.65S	F # 8C	100 Free Relay Lead Off			9.81
Ruby Morriso	on (12) F				
42.93S	F # 7C	Female 12-12 50 Fly	4		-0.31
3:16.40S	F # 10C	Female 12-12 200 IM	8		-1.48
44.33S	F # 12C	Female 12-12 50 Back	2		
Cameron Mu	rphy (13) M				
2:01.00S	F # 9D	Male 13-13 100 IM	6		
1:04.67S	F # 15D	Male 13-13 50 Fly	5		
Joe Murphy ((13) M				
46.07S	F # 4D	Male 13-13 50 Back	1		
1:48.79S	F # 9D	Male 13-13 100 IM	2		
Melanie Mur	nhv (11) F				
1:48.475	F # 1B	Female 11-11 100 IM	10		-4.88
52.29S	F # 7B	Female 11-11 50 Fly	11		-0.80
Kate O'Brien	(12) F	•			
2:09.30S	F # 1C	Female 12-12 100 IM	27		
47.50S	F # 12C	Female 12-12 50 Back	4		
Fiadh O'Conn					
1:36.45S	F # 1C	Female 12-12 100 IM	8		-8.53
1:44.23S	F # 3C	Female 12-12 100 Back	10		-16.95
45.34S	F # 7C	Female 12-12 50 Fly	6		-8.88
		10	· ·		0.00
Ollie O'Conno 45.97S	F # 4A	Male 10-10 50 Back	2		-3.00
		Male 10-10 30 Back	Z		-3.00
Oisin O'Donn		Mala 10 10 50 Paul-	r		
49.60S 2:05.41S	F # 4A F # 9A	Male 10-10 50 Back	5		
55.26S		Male 10-10 100 IM	10 7		
	F # 15A	Male 10-10 50 Fly	1		
Tadhg O'Dow		M 1 40 40 50 D 1			
NS NC	F # 4A	Male 10-10 50 Back			
NS	F # 9A	Male 10-10 100 IM			
Euan O'Maho					
51.86S	F # 4A	Male 10-10 50 Back	8		2.69
37.15S	F # 8C	100 Free Relay Lead Off			6.62
2:01.38S	F # 9A	Male 10-10 100 IM	7		-0.74
Kate O'Shea	• •				
1:54.97S	F # 1C	Female 12-12 100 IM	23		
54.93S	F # 7C	Female 12-12 50 Fly	18		
51.96S	F # 12C	Female 12-12 50 Back	5		-6.00
	Sullivan (10) F				
1:00.62S	F # 12A	Female 10-10 50 Back	10		

Swim Munster Future Challenger Meet 2B 03-Dec-23 [Ageup: 31/12/2023] SC Meters Sanction: 11S-23/24/M011 Location: Douglas Swimming Pool

Sanction: 115-23/24/M011 Location: Douglas Swimming Pool Sundays Well Swimming Club [SWSC] Coach: Richard Cassidy

Time	F/P/S	Event	Place	Points	Improv
Ronan O'Sulli	ivan (13) M				
1:53.198	F # 9D	Male 13-13 100 IM	4		-7.02
1:52.93S	F # 11D	Male 13-13 100 Back	5		
Bella Ryan (1	l2) F				
2:03.10S	F # 1C	Female 12-12 100 IM	26		
52.65S	F # 12C	Female 12-12 50 Back	6		
Abi Singleton	(13) F				
1:23.32S	F # 3D	Female 13-13 100 Back	1		4.49
39.78S	F # 7D	Female 13-13 50 Fly	1		
3:09.71S	F # 10D	Female 13-13 200 IM	1		-12.47
Lauryn Single	eton (12) F				
1:41.47S	F # 1C	Female 12-12 100 IM	13		-5.86
46.30S	F # 7C	Female 12-12 50 Fly	7		
44.82S	F # 12C	Female 12-12 50 Back	3		-1.96
Cormac Smyt	h (11) M				
58.29S	F # 4B	Male 11-11 50 Back	5		-7.23
2:22.36S	F # 9B	Male 11-11 100 IM	7		
Mar Urendes	(13) F				
1:44.57S	F # 1D	Female 13-13 100 IM	5		
Gabriele Vaid	loge (10) F				
2:10.88S	F # 1A	Female 10-10 100 IM	14		
56.418	F # 12A	Female 10-10 50 Back	8		